OV RpER 1,5

AN 3 RAYAEYS (BFOE) A AR HDCPAR HCEA®E &L HCH#b :1.0
IEHLT9 = w9Fys BIvk 9s HC 0UTRI7 4 TR
R 204 068 108 KEER X5 Bh SmA%k 163A  NETFE  94.4
K4 ouT IN TOTAL|  HDCP NET | &4
1| FH =H 36 39 * 75 75.0
2| L% x— 36 40 76 76.0
3| #E =5k 39 39 18 78.0
4| FABH B— 43 36 79 79.0
5| i Hif 41 38 79 79.0
6| LA N\+5 41 38 79 79.0
1| F8 ST 40 39 79 79.0
8 | Nl #®F 40 39 79 79.0
9| A =H 40 40 80 80.0
10| ik E 39 41 80 80.0
1| &80 B 42 39 81 81.0
12| EH 'z 43 39 82 82.0
13| #HE ##AXER 4 4 82 82.0
14| HBRKR [EX 45 38 83 83.0
15| X& B 42 41 83 83.0
16| £ BE 40 43 83 83.0
17| AR #4% 45 39 84 84.0
18| gt E@ 43 41 84 84.0
19| &% =B 40 44 84 84.0
20 | =¥ BE& 45 40 85 85.0
21 | B8R & 45 40 85 85.0
22 | &M BFI 44 41 85 85.0
23| B MR 44 41 85 85.0
24 | Bl #HE 43 42 85 85.0
25| BK EH 42 43 85 85.0
26 | Al &BF 42 43 85 85.0
27| £EH BEE 42 43 85 85.0
28 | S FRif 40 45 85 85.0
29| ®xH#H BB 48 38 86 86.0
30 [ AH BEXER 44 42 86 86.0
3N | HX =B 43 43 86 86.0
2| HFA FTE 43 43 86 86.0
33| RME —& 42 44 86 86.0
M| Bk Rif 41 45 86 86.0
3% | REH £17 46 41 87 87.0
6| K& =EF 46 41 87 87.0
37| el 2= 45 42 87 87.0
38| AHE ERE 45 42 87 87.0
9| &F BABA 45 42 87 87.0
40 | AR —E 45 42 87 87.0

MEERIINTHST




OV REER

2/ 5

AN 3 RAYAEYS (BFOE) A AR HDCPAR HCEA®E &L HCH#b :1.0
IEHLT9 = w9Fys BIvk 9s HC 0UTRI7 4 TR

R 204 068 108 KEER X5 Bh SmA%k 163A  NETFE  94.4

K4 ouT IN TOTAL|  HDCP NET | &4

M| /AN I 44 43 87 87.0
22\ EA 43 44 87 87.0
43 | BIE ®MZ— 42 45 87 87.0
44| TEH =8 42 45 87 87.0
45 | B BE 48 40 88 88.0
46 | HH  8A 4] 41 88 88.0
47 | KIEF & 4] 41 88 88.0
8B AR FE 45 43 88 88.0
9| 5 AXAH 44 44 88 88.0
50 | LUEH ExX 44 44 88 88.0
51 | A& JHHF 50 39 89 89.0
52 | BiE B 48 41 89 89.0
53 | W ZExz 4] 42 89 89.0
54 | HiE ¥ 46 43 89 89.0
55 | £1F B 45 44 89 89.0
56 | FkJE 1EHE 45 44 89 89.0
57 | IBKR MK 45 44 89 89.0
58 | W #®z 43 46 89 89.0
5 | &Z#E A 42 4] 89 89.0
60 | A FH= 49 41 90 90.0
61| R}X LEE 4] 43 90 90.0
62 | 18 3h 46 44 90 90.0
63| #FE£ F*F— 46 44 90 90.0
64 | BEEH FIA 45 45 90 90.0
65 | =ik FF0 45 45 90 90.0
66 | FAox Eif 45 45 90 90.0
67| HE #EA 44 46 90 90.0
68 | $=JIl F5h 42 48 90 90.0
69 | hIE 5—AR 48 43 91 91.0
0| A EBX 4] 44 91 91.0
71| FAE 17EE 4] 44 91 91.0
12 | #EEH & 45 46 91 91.0
B+ Ex 45 46 91 91.0
14| B #X 44 4] 91 91.0
15| AR A 49 43 92 92.0
76 | ¥k  ERI 4] 45 92 92.0
17| AR #5h 4] 45 92 92.0
18| B F 45 4] 92 92.0
19| £ R 44 48 92 92.0
80| Xl EE 50 43 93 93.0

MEERIINTHST




OV REER

3./ 5

AN 3 RAYAEYS (BFOE) A AR HDCPAR HCEA®E &L HCH#b :1.0
IEHLT9 = w9Fys BIvk 9s HC 0UTRI7 4 TR

R 204 068 108 KEER X5 Bh SmA%k 163A  NETFE  94.4

K4 ouT IN TOTAL|  HDCP NET | &4

81| R H*X 4] 46 93 93.0
82| BiL = 4] 46 93 93.0
83 | Il & 4] 46 93 93.0
84 | ZFT & 49 45 94 94.0
85 | &% F— 49 45 94 94.0
86 | #8H 8A 48 46 94 94.0
87| K EX 48 46 94 94.0
88 | iF# 4] 4] 94 94.0
89 | &y x— 4] 4] 94 94.0
90 | HZ ER 46 48 94 94.0
91 [ /Ml & 45 49 94 94.0
92| NEH =£=X 45 49 94 94.0
BB F 50 45 95 95.0
9 [ K F# 49 46 95 95.0
9% | = £y 48 4] 95 95.0
9 | K Z=— 48 4] 95 95.0
97 | EF HRZ 4] 48 95 95.0
98 | MHE HEf 4] 48 95 95.0
99 | M BA— 4] 48 95 95.0
100 | %8 Fx 46 49 95 95.0
101 | #Lit S8k 50 46 96 96.0
102 | EE # 50 46 96 96.0
103 | BrRH =Fif 50 46 96 96.0
104 | EX EXREA 46 50 96 96.0
105 | :F #h= 45 51 96 96.0
106 | BH HX 55 42 97 97.0
107 | & FKIAER 49 48 97 97.0
108 | H%r FRE 49 48 97 97.0
109 | HE ¥ 49 48 97 97.0
110 | BA A 48 49 97 97.0
111 | FE&E Bt 54 44 98 98.0
112 | #F)l Bh— 52 46 98 98.0
13 e & 51 4] 98 98.0
114 | Xig #E&k 50 48 98 98.0
115 | B8 ={E 48 50 98 98.0
116 | ##HA IE3A 4] 51 98 98.0
11| RE R= 46 52 98 98.0
118 | AlF XA 56 43 99 99.0
119 | KW HE 54 45 99 99.0
120 EEH HE 52 4] 99 99.0

MEERIINTHST




OV REER

4, 5

AN 3 RAYAEYS (BFOE) A AR HDCPAR HCEA®E &L HCH#b :1.0
IEHLT9 = w9Fys BIvk 9s HC 0UTRI7 4 TR

R 204 068 108 KEER X5 Bh SmA%k 163A  NETFE  94.4

K4 ouT IN TOTAL|  HDCP NET | &4

121 | K EE 51 48 99 99.0
122 | Blg =& 50 49 99 99.0
123 | #4458 BAA 48 51 99 99.0
124 | &#h 1EZE 53 4] 100 100.0
125 | &% & 50 50 100 100.0
126 | A Bk 50 50 100 100.0
127 | hE A b5 46 101 101.0
128 | 3%kEA EBE 54 4] 101 101.0
129 | B BBH 52 49 101 101.0
130 2 [&E 56 46 102 102.0
131 | BEE =2 b4 48 102 102.0
132 | £ R& 54 49 103 103.0
133 | AR F— 53 51 104 104.0
134 | &8H —H 52 52 104 104.0
135 | = EH 51 53 104 104.0
136 | Ak AH 52 53 105 105.0
137 | BB == 49 56 105 105.0
138 | €& HBIER b5 b1 106 106.0
139 | LA & 51 55 106 106.0
140 | g BH] 58 49 107 107.0
141 | Bl #— 57 50 107 107.0
142 | &K HBiE 57 50 107 107.0
143 | )il FEER 56 b1 107 107.0
144 | &0 W b4 53 107 107.0
145 | FNl A 52 b5 107 107.0
146 | 7afE BAZ b5 53 108 108.0
147 | = f&2— 54 54 108 108.0
148 | WO #K 53 b5 108 108.0
149 | kO Sefe 57 52 109 109.0
150 | £ &RE 56 53 109 109.0
151 | B A1E 58 52 110 110.0
152 | &£@B B 57 53 110 110.0
153 | XX IEA 56 b4 110 110.0
154 | #% B3 60 b1 111 111.0
155 | #EEH BB 54 57 111 111.0
156 | £F Bz 53 58 111 111.0
157 | HFik T 56 57 113 113.0
158 | X#& I1EM 58 57 115 115.0
199 | &H# BZ b5 61 116 116.0
160 | A EFX 58 60 118 118.0

MEERIINTHST




O Vv R E X 5, 5

wA'Ne 3 hRAYAEYY (BFOE) A A - HDCPAR HCERAZE : AL HC# :1.0

B3y« wyFvy  h9vbn yh HC 0UTRI7 &5 THEE

TRk 205 068 108 XBEH XxX&E Bh SMAZ 163N  NETEH 94. 4
K4 ouT IN TOTAL|  HDCP NET | &%

161 | #8E Zib 60 65 125 125.0

162 | BB A& 60 67 127 127.0

163 | EX & 75 61 136 136.0

MEERIINTHST




